
DM 

1 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  
 

 
 
 
 

 
 

TEST II 
UNIT VI INDIAN ECONOMY & UNIT X APTITUDE AND MENTAL ABILITY 

 

1. What was the position of India in GDP among Asian countries in 2016? 
a. First Place b. Second Place  c. Third Place d. Fourth Place 
2016Mk; Mz;bd; Mrpa ehLfspd; GDP apy; ,e;jpahtpd; ,lk; vd;d? 
a. Kjy; ,lk;  b. ,uz;lhk; ,lk; 
c. %d;whk; ,lk;  d. ehd;fhk; ,lk; 
 

2. When was MRTP Act enacted? 
a. 1949  b. 1979  c. 1959  d. 1969 
vg;nghOJ MRTP rl;lk; ,aw;wg;gl;lJ? 
a. 1949  b. 1979  c. 1959  d. 1969 
 

3. Choose the correct statement 
1. First ever EPZ in Asia was set up by the government of India, in Kandla 

in 1965 
2. In the beginning of 1980’s seven more EPZs were set up 
3. To invite larger Foreign Direct investments in India, these EPZs were 

converted into Special Economic Zones in 2000 
a. 1, 2, 3 correct  b. 1, 3 correct  c. 1, 2 correct d. 2, 3 correct 
rhpahd thf;fpaq;fis Njh;e;njL 
1. Mrpahtpd; Kjy; Vw;Wkjp nrayhf;f kz;lyj;ij (EPZ) ,e;jpa muR 

1965,y; fhz;l;yhtpy; Jtf;fpaJ. 
2. 1980fspd; Jtf;fj;jpy; NkYk; VO EPZfs; Jtf;fg;gl;ld. 
3. ,e;jpah mjpfkhd me;epa Neub KjyPl;il <h;f;f ,e;j EPZfs; 2000 Mk; 

Mz;by; rpwg;G nghUshjhu kz;lyq;fshf khw;wg;gl;lJ 
a. 1> 2> 3 rhp  b. 1> 3 rhp   c. 1> 2 rhp  d. 2> 3 rhp 
 

4. Consider the following 
Assertion (A): Goods and services Tax (GST) is also called as “one-point tax”  
Reason (R): It would eliminate the cascading effect of taxes on the 
production, distribution of goods and services. 
a. Both A and R are correct and R is the correct explanation of A 
b. Both A and R are correct but R is not the correct explanation of A 
c. A is true R is false 
d. A is false R is true 
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gpd;tUtdtw;iw Ma;f 
$w;W (A): ruf;F kw;Wk; Nrit thp (GST) “xU Kid thp” vd;Wk; 
miof;fg;gLfpwJ. 
fhuzk; (R): ,J cw;gj;jp> gz;lq;fs; tpepNahfk; kw;Wk; Nritfs; kPjhd 
mLf;Fthp ghjf tpisit ePf;FfpwJ. 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 

  
5. Who used the term “Hindu rate of Growth”? 

a. B.R. Ambedkar   b. Rajkrishna 
c. Arvind Panagariya   d. Arvind Subramanian 
“,e;J tsh;r;rp tPjk;” vd;w thh;j;ijia gad;gLj;jpath; ahh;? 
a. B.R. mk;Ngj;fh;   b. ,uh[;fpU~;zh 
c. mutpe;j; gdfhhpah   d. mutpe;j; Rg;ukzpad; 
 

6. Who stated that “An Indian farmer is born in debt, lives indebt, dies in debt, 
and bequeaths debt”? 
a. Irving Fisher   b. Malcolm Darling 
c. Thomas Malthus  d. Paul Samuelson 
“Xh; ,e;jpa cotd; fldpNy gpwe;J> fldpNy tho;e;J> fldpNyNa ,we;J> 
mtd; re;jpf;Fk; flidNa tpl;Lr;nry;fpwhd;” ,J ahh; $w;W? 
a. ,h;tpq; gp~;rh;  b. khy;fk; lhh;ypq; 
c. jhk]; khy;j];  d. ghy; rhKNty;rd; 
 

7. Choose the correct statement 
1. According to the 2011 population census, there are 6, 40, 867 villages in 

India. 
2. 62.84 percent people of India live in rural areas. 
3. According to the 2011-12 estimates, about 22 crores of people in rural areas 

are poor and live below poverty line 
a. 1, 2, 3 correct  b. 1, 2 correct 
c. 1, 3 correct  d. 2, 3 correct 
rhpahd thf;fpaq;fisj; Njh;e;njL 
1. 2011Mk; Mz;L kf;fs;njhif fzf;nfLg;gpd;gb> ,e;jpahtpy; 6>40>867 

fpuhkq;fs; cs;sd. 
2. 62.84 rjtPj ,e;jpa kf;fs; Cufq;fspy; trpf;fpd;wdh;. 
3. 2011-12,d; kjpg;gPl;bd;gb Cufg; gFjpfspy; Rkhh; 22 Nfhb kf;fs; 

Vo;ikahfTk; tWik Nfhl;bw;F fPOk; trpf;fpd;wdh;. 
a. 1> 2> 3 rhp  b. 1> 2 rhp  c. 1> 3 rhp  d. 2> 3 rhp 
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8. Consider the following 
Assertion (A): One side villages are empty, on the other side towns are 
congested. This is called “double poisoning” 
Reason (R): There are Enmity and lack of basic amenities in rural areas which 
pushes the people to migrate urban areas. 
a. Both A and R are correct and R is the correct explanation of A 
b. Both A and R are correct but R is not the correct explanation of A 
c. A is true R is false 
d. A is false R is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): xUGwk; fpuhkq;fs; fhypahfTk;> kWGwk; efuq;fs; nehpryhfTk; 
cs;sd. ,J “,ul;il eQ;rhf;fy;” vd;W miof;fg;gLfpwJ. 
fhuzk; (R): fpuhkg; gFjpfspy; gifik kw;Wk; mbg;gil trjpfs; ,y;yhik 
fpuhk kf;fis efh;Gwj;jpw;F ,lk;ngau itf;fpwJ. 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 

 

9. DMP model explains about _________ 
a. Education b. Health   c. Banking  d. Unemployment 
DMP khjphp _____ gw;wp tpsf;FfpwJ 
a. fy;tp  b. Rfhjhuk;  c. tq;fpapay; d. Ntiyapd;ik 
 

10. What is average size of self-help group? 
a. 7 members  b. 10 members c. 14 members d. 20 members 
Ra cjtpf; FOtpd; ruhrhp msT vd;d? 
a. 7 cWg;gpdh;fs; b. 10 cWg;gpdh;fs;  
c. 14 cWg;gpdh;fs; d. 20 cWg;gpdh;fs; 
 

11. MUDRA Bank is a ________ financial institution  
a. Private Sector   b. Public Sector 
c. Co-operative Sector d. Joint Sector 
MUDRA tq;fp xU ______ epjp epWtdk; MFk; 
a. jdpahh; Jiw   b. nghJj;Jiw 
c. $l;LwTj;Jiw  d. $l;Lj;Jiw 
 

12. Choose the wrong statements 
1. Tamilnadu is the largest contributor to India’s GDP 
2. Tamilnadu ranks second in Human Development Index (2015) 
3. Tamilnadu is placed third in health index as per the NITI Aayog report. 

(2018) 
a. 1, 2, 3  b. 1, 3  c. 1, 2  d. 2, 3 
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jtwhd thf;fpaq;fisf; fz;Lgpb 
1. ,e;jpahtpd; nkhj;j cs;ehl;L cw;gj;jpapy; (GDP) jkpofj;jpd; gq;fspg;G 

Kjyplk; MFk;. 
2. kdpj ts Nkk;ghl;Lf; FwpaPl;by; jkpo;ehL ,uz;lhk; ,lk; tfpf;fpwJ. 

(2015) 
3. epjp MNahf; mwpf;ifapd;gb Rfhjhuf; FwpaPl;by; jkpo;ehL %d;whk; ,lk; 

tfpf;fpwJ. (2018) 
a. 1> 2> 3  b. 1> 3  c. 1> 2  d. 2> 3 
 

13. Which one of the following is the largest source of irrigation in Tamilnadu? 
a. Rivers  b. Canals  c. Lakes  d. Wells 
gpd;tUtdtw;Ws; ve;jnthd;W jkpo;ehl;bd; kpfg;nghpa ePh;g;ghrd MjhukhFk;? 
a. MWfs;  b. fhy;tha;fs;  c. Vhpfs;  d. fpzWfs; 
 

14. Match the following 
Mineral   Share of Tamil Nadu in National Reserve 
A. Lignite   1. 25% 
B. Vermiculite  2. 87% 
C. Granite   3. 66% 
D. Graphite  4. 33% 
E. Monazite  5. 42% 
nghUj;Jf 
fdpkk;   ehl;bd; ,Ug;gpy; jkpofj;jpd; gq;F 
A. ypf;idl;  1. 25% 
B. Nth;kpFiyl;  2. 87% 
C. fhh;ndl;  3. 66% 
D. fpuhigl;  4. 33% 
E. Nkhdirl;  5. 42% 
 A B C D E 
a. 2 3 5 4 1 
b. 2 3 4 5 1 
c. 2 3 1 4 5 
d. 2 3 5 1 4 
 

15. What is the rank of Tamilnadu in population density? 
a. 6th   b. 7th  c. 10th  d. 12th 
kf;fs;njhif mlh;j;jpapy; jkpofj;jpd; ,lk; vd;d? 
a. 6tJ  b. 7tJ c. 10tJ  d. 12tJ 
 

16. What is the per capita income of Tamilnadu? 
a. 1670 USD  b. 2200 USD c. 1443 USD d. 2175 USD 
jkpo;ehl;bd; jyh tUkhdk; vd;d? 
a. 1670 mnkhpf;f lhyh;  b. 2200 mnkhpf;f lhyh; 
c. 1443 mnkhpf;f lhyh;  d. 2175 mnkhpf;f lhyh; 
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17. How many Agro climatic zones are in Tamilnadu? 
a. 5  b. 6  c. 7  d. 8 
jkpo;ehl;by; vj;jid Ntshz; fhyepiy kz;lyk; cs;sJ? 
a. 5  b. 6  c. 7  d. 8 
 

18. Match the following 
A. Detroit of Asia      1. Karur 
B. Gateway of Tamilnadu     2. Sankagiri 
C. Lorry fleet operators     3. Rajapalayam 
D. Surgical Cotton products    4. Chennai 
E. Coach Building      5. Thoothukudi 
nghUj;Jf 
A. Mrpahtpd; nll;uha;l;     1. f&h; 
B. jkpofj;jpd; Eiothapy;     2. rq;ffphp 
C. yhhp fyj;njhFjp      3. uh[ghisak; 
D. mWit rpfpr;irf;fhd gUj;jp nghUl;fs; 4. nrd;id 
E. thfd Gidgth;      5. J}j;Jf;Fb 
 A B C D E 
a. 4 5 2 1 3 
b. 4 5 1 2 3 
c. 4 5 2 3 1 
d. 4 5 3 2 1 
 

19. The total length of railway track in Tamil Nadu is _______ 
a. 6,693 km  b. 5,703 km c. 7,736 km d. 5,913 km 
jkpo;ehl;by; cs;s ,Ug;G ghijapd; nkhj;j ePsk; ______ MFk; 
a. 6,693 km  b. 5,703 km c. 7,736 km d. 5,913 km 
 

20. Which one of the following is called as “pump city”? 
a. Thoothukudi  b. Chennai  c. Coimbatore  d. Tirunelveli 
gpd;tUtdtw;Ws; vJ “fhw;wOj;j tpirf;Foha; efuk;” (pump city) vd;W 
miof;fg;gLfpwJ? 
a. J}j;Jf;Fb  b. nrd;id c. Nfhak;Gj;J}h;  d. jpUney;Ntyp 
 

21. Choose the incorrect one. 
i. 20 Point Programme  - 1975 
ii. NREP    - 1980 
iii. Indira Awas Yojana  - 1985 
iv. Jawahar Rozgar Yojana - 1990 
a. i only  b. ii only  c. iii only  d. iv only 
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jtwhd nghUj;jj;ij Njh;e;njL. 
i. 20 mk;r jpl;lk;   - 1975 
ii. NREP    - 1980 
iii. ,e;jpuh Mth]; jpl;lk; - 1985 
iv. [t`h;Nuh[;fh; jpl;lk;  - 1990 
a. i kl;Lk;  b. ii kl;Lk;  c. iii kl;Lk;  d. iv kl;Lk; 

 
22. Choose the correct statements about Tamilnadu – Ports. 

i. Chennai, Ennore and Tuticorin are major ports of Tamilnadu. 
ii. The intermediate Port – Tuticorin Port. 
iii. All the minor ports are managed by the Tamilnadu Maritime Board. 
a. i, ii only  b. ii, iii only c. i, iii d. i, ii and iii  
jkpo;ehl;bd; JiwKfq;fs; gw;wp rhpahdijf; Njh;e;njL:  
i. nrd;id> vz;Z}h;> J}j;Jf;Fb> Mfpait jkpo;ehl;bd;    
   ngupa JiwKfq;fshFk;  
ii. J}j;Jf;Fb – eLj;ju JiwKfkhFk;.  
iii. midj;J rpwpa JiwKfq;fSk; - jkpo;ehL fly;rhh; ikaj;jhy;  
   eph;tfpf;fg;gl;L tUfpwJ.  
a. i, ii kl;Lk; b. ii, iii kl;Lk;  c. i, iii kl;Lk; d. i, ii kw;Wk; iii kl;Lk;  
 

23. Self Help group bank linkage programme (SBLP) was started in 
a. 1990  b. 1992  c. 2010  d. 2016 
Ra cjtpf; FOf;fs; tq;fp ,izg;Gj; jpl;lk; (SBLP)________ y; 
Muk;gpf;fg;gl;lJ. 
a. 1990  b. 1992  c. 2010  d. 2016 

 
24. Choose the incorrect statement: 

I. A Kisan credit card is aimed to have quick and affordable credit to 
farmers. 

II. Agricultural Produce Market Committee is a non-statutory body 
III. APMC promotes agricultural activities  
IV. APMC provides market led extension services to farmer 
a. I and II  b. III and IV  c. IV only  d. II only 
 nghUj;jkw;w $w;wpid fz;lwpf.  
I coth; fld; ml;il tptrhapfSf;F tpiuthfTk; jFjpf;Nfw;gTk; fld; 

toq;Fk; Vw;ghlhFk;  
II tptrha nghUl;fSf;fhd mq;fhbf;FO (APMC) xU rl;lg;G+h;tkhd 

mikg;G my;y 
III Ntshz; eltbf;iffis Cf;Ftpg;gJ APMC – d; gzpahFk;  
IV APMC re;ij rhh;e;j tphpthf;f Nritfis toq;FfpwJ 

 a. I kw;Wk; II  b. II kw;Wk; IV   c. IV kl;Lk;  d. II kl;Lk;  
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25. The programme which was launched in 2005, to provide basic amenities and 
infrastructure to rural India is called as: 
a. Pradhan Mantri Gram Sadak Yojana 
b. Bharat Nirman  
c. National Rural Livelihood Mission 
d. National Rural Health Mission 
2005 – 2006 k; Mz;by; njhlq;fg;gl;l> fpuhg;Gw ,e;jpahTf;F mbg;gil 
trjpfs; kw;Wk; cs;fl;likg;ig toq;Ftjw;fhd jpl;lk; vd miof;fg;gLtJ  
a. gpujkhpd; fpuhk rhiyj; jpl;lk;  
b. ghuj; eph;khd; 
c. Njrpa fpuhkg;Gw tho;thjhu ,af;fk; 
d. Njrpa fpuhkg;Gw Rfhjhu ,af;fk; 
 

26. Which of the following is wrongly matched? 
a. Swachh Bharat Abhiyan   - Urban and rural areas 
b. AMRUT Scheme    - Municipal corporation 
c. NEEDS      - Micro, small and medium enterprises 
d. Pradhan Mantri Fasal Bima Yojana - Environment 
gpd;tUdtw;Ws; vJ jtwhf ,izag;gl;Ls;sJ?  
a. ];tr; ghuj; mgpahd;   - efh;g;Gw kw;Wk; fpuhkg;Gwq;fs;  
b. mk;Uj; jpl;lk;    - efuhl;rpfs;  
c. NEEDS (ePl;];)    - FW> rpW kw;Wk; eLj;juj; njhopy;fs;  
d. gpujhd; ke;jpup gry; gPkh Nah[dh - Rw;W#oy;  
 

27. Integrated rural development programme was implemented in 
a. 1978  b. 1979  c. 1980  d. 1982  
‘xUq;fpize;j Cuf tsh;r;rpj; jpl;lk;’ nray;gLj;jg;gl;l Mz;L 
a. 1978  b. 1979  c. 1980  d. 1982  
 

28. The measures of tenancy reforms pertain to  
1. Regulation of rent 
2. Security of tenure 
3. Ownership rights for tenants 
4. Ceilings on land holdings 
a. (2) and (3) only   b. (1) and (2) only    
c. (2), (3) and (4) only  d. (1), (2) and (3) only  
Fj;jif rPh;j;jpUj;jq;fspy; Nkw;nfhs;sg;gl;l eltbf;iffSld; 
njhlh;Gilait  
1. thlif fl;Lg;ghL    2. Fj;jiffhy ghJfhg;G  
3. Fj;jiffhuh;fspd; chpikfs;  4. epy cilik cr;rtuk;G  
a. (2) kw;Wk; (3) kl;Lk;     b. (1) kw;Wk; (2) kl;Lk; 
c. (2), (3)  kw;Wk; (4) kl;Lk;   d. (1), (2) kw;Wk; (3) kl;Lk;   
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29. Consider the following statements 
1. A major issue highlighted by census 2011 is that there are  

around 50 lakh less children in age group 0-6 years in census 2011 than 
census 2001 

2. Population growth rate between 2001 and 2011 is lower than the 
Population growth rate between 1991 and 2001 

a. 1 and 2 are correct but 2 does not explain 1 
b. 1 is wrong; 2 is correct 
c. Both 1 and 2 are wrong 
d. Both 1 and 2 are correct and 2 explains the 1 
gpd;tUk; $w;Wfis Ma;f 
1. 0-6 taJ Foe;ijfspd; vz;zpf;if 2001 kf;fs;njhif fzf;nfLg;ig 

xg;gpLk;NghJ 2011 kf;fs; njhif fzf;nfLg;gpy; Rkhh; 50 yl;rk; tiu 
Fiwe;Js;sJ. ,e;j cz;ik Kf;fpa gpur;ridahf 2011 kf;fs; njhif 
fzf;nfLg;gpy; Rl;bf;fhl;lg;gl;Ls;sJ 

2. 2001 kw;Wk; 2011k; Mz;LfSf;F ,ilapyhd kf;fs;njhif tsh;r;rp tPjk; 
1991 kw;Wk; 2001k; Mz;LfSf;F ,ilapyhd kf;fs;njhif tsh;r;rp 
tPjj;Jld; xg;gpLifapy; FiwthdJ MFk;. 

a. 1 kw;Wk; 2 rhp> Mdhy; 2> 1-f;fhd tpsf;fk; my;y 
b. 1 jtW> 2 rhp 
c. 1 kw;Wk; 2 ,uz;Lk; jtW 
d. 1 kw;Wk; 2 ,uz;Lk; rhp> 2> 1-f;fhd rhpahd tpsf;fk; 
 

30. Consider the following statements related to the Growth of population in 
underdeveloped nations: 
1. More money spent on subsidies  
2. It destroys the natural resources 
3. It stimulate greater productivity and savings 
Select the correct answers by using the codes: 
a. 1 only  b. 2 only  c. 1 and 2  d. 2 and 3  
gpd;jq;fpa ehLfspy; fhzg;gLk; kf;fs; njhifg; ngUf;fk; Fwpj;j 
fUj;Jfis ftdj;jpy; nfhs;sTk;  
1. mjpf njhif khdpaq;fSf;fhf nrytplg;gLfpwJ 
2. ,aw;if tsq;fs; mope;J NghFk; mstpw;F gad;gLj;jg;gLfpwJ.  
3. mjpf cw;gj;jpj; jpwd; kw;Wk; Nrkpg;ig Cf;Ftpf;fpwJ.  
FwpaPLfisg; gad;gLj;jp rhpahd tpil fhz;f.  
a. 1 kl;Lk;  b. 2 kl;Lk; c. 1 kw;Wk; 2 d. 2 kw;Wk; 3  
 

31. Population growth rate in the year 1951 decreased from 1.33% to 1.25% so 
this year is called as 
a. Year of decreasing   b. Year of shortage 
c. Year of small divide  d. Year of backward 
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1951-Mk; Mz;by; kf;fs; njhif ngUf;f tpfpjk; 1.33% ypUe;J 1.25% Mf 
Fiwe;jJ vdNt ,e;j Mz;L ,t;thW miof;fg;gLfpwJ.  
a. rhpT Mz;L     b. FiwT Mz;L    
c. rpW gpsT Mz;L    d. gpd;jq;fpa Mz;L    
 

32. What does ‘BIMARU’ implies? 
a. States with the lowest birth rates 
b. States with the Highest mortality rates 
c. The most populous states 
d. The least populous states 
‘BIMARU’ vd;gJ vij Fwpf;fpwJ? 
a. Fiwe;j gpwg;G tpfpjj;ij nfhz;l khepyq;fs; 
b. mjpf ,wg;G tpfpjj;ij nfhz;l khepyq;fs; 
c. mjpf kf;fs; njhif nfhz;l khepyq;fs; 
d. Fiwe;j kf;fs; njhif nfhz;l khepyq;fs; 
 

33. Consider the following statements regarding New Economic Policy  
I. The New Economic Policy 1991, introduced set of policies known as 

structural reforms. 
II. It was based on the LPG model. 
a. I, II are correct b. I is correct c. II is correct d. I, II are incorrect 
Gjpa nghUshjhu nfhs;if njhlh;ghd gpd;tUk; $w;Wfis Muha;f. 
I. 1991-,y; mwpKfg;gLj;jpa Gjpa nghUshjhuf; nfhs;if ehl;bd; 

fl;likg;ig Nkk;gLj;Jk; nfhs;ifahff; fUjg;gl;lJ. 
II. ,J LPG-khjpupia mbg;gilahff; nfhz;lJ. 
a. I, II rup   b. I rup  c. II rup  d. I, II jtW 

 

34. The term Liberalization of Economic policy 1991 includes. 
i. Delicensing  ii. Denationalization  iii. Deregulation 
a. i, iii  b. i, ii  c. ii, iii  d. all the above 
1991-Mk; Mz;bd; nghUshjhuf; nfhs;ifapy; jhuhskakhf;fy; vd;w 
thu;j;ij vtw;iw cs;slf;fpaJ? 
i. cupkk; toq;FKiw uj;J   ii. ehl;Likahf;Fjypd;ik 
iii. fl;Lg;ghL ePf;fk; 
a. i, iii  b. i, ii  c. ii, iii  d. Nkw;$wpa midj;Jk; 

 

35. Which of the following is/are the primary objectives of the industrial policy 
of 1991? 
i. To promote major industries from the clutches of bureaucrats. 
ii. To abolish restrictions on Foreign Direct Investment. 
iii. To achieve international competitiveness. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii 
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gpd;tUtdtw;Ws; njhopw;nfhs;if 1991-d; Kjd;ik Nehf;fq;fs; vit? 
i. mjpfhuj;jpd; gpbapy; ,Uf;Fk; gy njhopy;fis tpLtpj;J Cf;Ftpj;jy; 
ii. ntspehl;L Neub KjyPLfspy; cs;s fl;Lg;ghLfis xopg;gJ. 
iii. ru;tNjr Nghl;bfis vjpu;nfhs;tJ 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii 

 

36. Consider the following statements. 
Assertion (A): In India, the per capita availability of fruits and vegetable is 
low. 
Reason (R): In India, the post-harvest losses accounts for about 25% to 30% 
of the production. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): ,e;jpahtpy; jdpegUf;Ff; fpilf;ff; $ba goq;fs; kw;Wk;  
  fha;fwpfspd; msT kpff;FiwT. 
fhuzk; (R): ,e;jpahtpy; 25% Kjy; 30% tiuapyhd ,og;Gfs;  
  mWtilf;Fg; gpd;dhy; Vw;gLfpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
 

37. Consider the following statements. 
I. The Kisan credit card was launched in 1998 by RBI and NABARD. 
II. The scheme aims to reduce farmer dependence on the informal banking 

sector for credit. 
a. I, II are correct b. I is correct c. II is correct d. I, II are incorrect 
gpd;tUk; $w;Wfis Muha;f. 
I. fp~hd; fpnubl; fhu;l; 1998k; Mz;L ,e;jpa upru;t; tq;fp kw;Wk; eghu;L 

tq;fpahy; njhlq;fg;gl;lJ. 
II. tptrhapfs; flDf;fhf Kiwrhuh tq;fpfisr; rhu;e;jpUg;gijf; 

Fiwg;gNj ,jd; Nehf;fk;. 
a. I, II rup  b. I rup  c. II rup  d. I, II jtW 
 

38. Which of the following statements about EXIM policy is/are correct? 
i. The Ministry of Commerce and Industry announced New Foreign 

Trade Policy on 1st April on 2015 
ii. It focuses on increasing in exports scenario, boosting production and 

supporting the concepts like Make in India and Digital India. 
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iii. EXIM Policy (2015-2020) is expected to double share of India in world 
from present level of 5% by the year 2020. 

a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii 
gpd;tUk; $w;Wfspy; Vw;Wkjp - ,wf;Fkjpf; nfhs;if (EXIM POLICY) gw;wp 
rupahdit vit? 
i. tu;j;jf kw;Wk; njhopy;Jiw mikr;rfk;> 2015 Mk; Mz;L Vg;uy; 1 

md;W ,f;nfhs;ifia mwptpj;jJ. 
ii. Kjd;ikahd Nehf;fk; Vw;Wkjp #oy;fis Nkk;gLj;Jjy;> cw;gj;jp 

mjpfupg;G kw;Wk; ,e;jpahtpy; jahupg;Nghk;> kpd;dZ ,e;jpah 
jpl;lq;fSf;F Mjutspj;jy;. 

iii. jw;NghJ cyf tu;j;jfj;jpy; 5% khf ,Ue;j ,e;jpahtpd; gq;if 2020-
f;Fs; Vw;Wkjp ,wf;Fkjpf; nfhs;if (2015-2020) ,Uklq;F mjpfupf;Fk;. 

a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii 
 

39. Which of the following is/are the main characteristics of special Economic 
zone? 
i. Having a separate custom area. 
ii. Geographically demarked area with physical security 
iii. Administered by single body authority. 
iv. Less freedom to the firms located in SEZs. 
a. i, ii   b. i, ii, iii  c. ii, iv d. all the above 
gpd;tUtdtw;Ws; rpwg;Gg; nghUshjhu kz;lyj;jpd; Kf;fpa ,ay;Gfs; vit? 
i. jdpg;gl;l tpUg;gg; gFjpiaf; nfhz;lJ. 
ii. ghJfhg;Gld; $ba epyg;gFjpfs; 
iii. jdpmikg;ghy; epu;tfpf;fg;gLk; 
iv. ,jpy; mikag;ngw;w epWtdq;fSf;F Fiwe;j msT Rje;jpuk; 

nfhLf;fg;gl;Ls;sJ. 
a. i, ii   b. i, ii, iii  c. ii, iv d. Nkw;$wpa midj;Jk; 

 

40. Consider the following statements. 
I. The Narasimman Committee was constituted in 1991. 
II. It was proposed to cut down the SLR from 38.5% to 22% within a time 

span of three years. 
III. It was proposed that the CRR be brought down to 3 to 5% over a period 

of four years. 
a. I, II are correct b. II is incorrect c. II, III are correct d. all are correct 
gpd;tUk; $w;Wfis Muha;f. 
I. eurpk;kd; FO 1991 ,y; mikf;fg;gl;lJ. 
II. ,f;FO %d;whz;L fhy mstpy; SLR tpfpjj;ij 38.55% ypUe;J 22% 

Mf Fiwf;f gupe;Jiuj;jJ. 
III. ,f;FO CRR tpfpjj;ij ehd;F Mz;Lfspy; 3 Kjy; 5% Mf Fiwf;f 

ghpe;Jiu nra;jJ. 
a. I, II rup  b. II jtW  c. II, III rup  d. midj;Jk; rup 
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41. If A : B = 2 : 5, B : C = 15 : 7, find the ratio of A : B : C. 
a. 2 : 5 : 7  b. 3 : 15 : 7  c. 6 : 15 : 7   d. 6 : 15 : 14 
A : B = 2 : 5, B : C = 15 : 7 vdpy;> A : B : C apd; tpfpjj;ijf; fhz;f. 
a. 2 : 5 : 7  b. 3 : 15 : 7  c. 6 : 15 : 7   d. 6 : 15 : 14 

 
42. In a Village of 10,000 people, 4,000 are Government Employees and the 

remaining are self-employed. Find the ratio of Self-employed to people of 
the village 
a. 2 : 5   b. 2 : 3  c. 3 : 5  d. 6 : 5 
xU fpuhkj;jpy; cs;s 10>000 Ngupy; 4>000 Ngu; muRg;gzpapy; cs;sdu;; kPjp 
cs;stu;fs; Ranjhopy; Gupfpd;wdu; vdpy;> Ra njhopy; Gupgtu;fs; kw;Wk; 
fpuhkj;jpy; cs;stu;fs; MfpNahUf;fpilNa  cs;s tpfpjq;fis fhz;f. 
a. 2 : 5   b. 2 : 3  c. 3 : 5  d. 6 : 5 

 
43. If 3 and 12 are means of the proportion then the extremes will be _________ 

a. 3 and 9  b. 3 and 18   c. 4 and 12   d. 2 and 18 
3 kw;Wk; 12 Mfpait xU tpfpj rkj;jpd; ,il cWg;Gfs; vdpy;> mtw;wpd; 
,Wjp cWg;Gfs; _______ 
a. 3 kw;Wk; 9  b. 3 kw;Wk; 18  c. 4 kw;Wk; 12   d. 2 kw;Wk; 18 
  

44. Zinc and Copper are in the ratio 5 : 3 in 200 gm of an alloy. How much grams 
of copper be added to make the ratio as 3 : 5?  

a. 72  b. 
1

200
  c. 

1
133

3
  d. 66 

200 fpuhk; fyitapy;>Jj;jehfk; kw;Wk; jhkpuk; Mfpait 5 : 3 vd;w 
tpfpjj;jpy; cs;sd. ,e;jtpfpjj;ij 3 : 5 vd;W khw;Wtjw;F> vj;jid fpuhk; 
jhkpuj;ij Nrh;f;f Ntz;Lk;? 

a. 72  b. 
1

200
  c. 

1
133

3
  d. 66 

 
45. The ratio of the income of A and B is 5 : 4 and the ratio of their expenditure 

is 3 : 2. At the end of the year each saves Rs. 1,000. Find the income of A  
a.  Rs. 2,000  b. Rs. 2,500   c. Rs. 1,000  d. Rs. 1,500  
A kw;Wk; B vd;gtu;fspd;; Cjpa tpfpjk; 5:4 mth;fs; nrytpd; tpfpjk; 3 : 
2 Mz;bd; ,Wjpapy; xt;nthUtUk; &. 1>000 Nrkpf;fpwhh;fs;. vdpy;, Aapd; 
Cjpak; fhz;f.  
a.  Rs. 2,000   b. Rs. 2,500   c. Rs. 1,000  d. Rs. 1,500  

 
46. The mean Proportional between 19 and 171 is:  

a. 57   b. 53  c. 61    d. 65  
19 kw;Wk; 171 – w;F ,ilepiy tpfpjk; fhz;f.  
a. 57   b. 53  c. 61    d. 65  
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47. A bag contains one rupee, 50 paise and 25 paise coins in the ratio 5 : 6 : 7. If 
the total amount is Rs. 780. Find the number of coin of each kind.  
a. 400, 560, 680  b. 230, 400, 600  c. 400, 280, 400 d. 400, 480, 560  
xU igapy;> xU &gha;> 50 igrh> 25 igrh ehzaq;fs; KiwNa 5 : 6 : 7 
vd;w tpfpjj;jpy; cs;sJ. mjd; nkhj;j kjpg;G & 780 vdpy; xt;nthU 
ehzaq;fspd; vz;zpf;if vd;d?  
a. 400, 560, 680  b. 230, 400, 600  c. 400, 280, 400 d. 400, 480, 560 

 
48. Find the ratio of 1.5 km to 500 m 

a. 2 : 1  b. 5 : 15   c. 5 : 1  d. 3 : 1 
1.5 fp.kP f;Fk; 500 kP f;Fk; cs;s tpfpjj;ij fhz;f. 
a. 2 : 1  b. 5 : 15   c. 5 : 1  d. 3 : 1 

 
49. find x and y   

5 :  x  : : 10 : 14 : : 15 : y 
a. 6, 21   b. 21, 6  c. 7, 21  d. 8, 20  
x kw;Wk; y ia fz;lwpf.  
5 : x  : : 10 : 14 : : 15 : y 
a. 6, 21   b. 21, 6  c. 7, 21  d. 8, 20  

 
50. Using the numbers 14, 7, 8, 4 write two ratios that are in proportion.  

a. 14 : 8 :  : 7 : 4  b. 14 : 7 : : 8 : 4  c. 14 : 8 : : 4 : 7 d. 8 : 14 : : 7 : 4 
14, 7, 8, 4 Mfpa vz;fisg; gad;gLj;jp tpfpj rkkhf cs;s ,U tpfpjq;fis 
vOJf.  
a. 14 : 8 :  : 7 : 4  b. 14 : 7 : : 8 : 4  c. 14 : 8 : : 4 : 7 d. 8 : 14 : : 7 : 4 

 
51. I have a box which has 3 green, 9 blue, 4 yellow, 8 orange coloured 24cubes 

in it. How many different ratios can be formed, when you compare each 
colour to any one of the other colours?  
a. 16 ratios   b. 20 ratios   c. 12 ratios  d. 8 ratios  
vd;dplKs;s xU ngl;bapy; 3 gr;ir> 9 ePyk;> 4 kQ;rs;> 8 MuQ;R vd 24 
tz;zf; fdr; rJuq;fs; cs;sd. vdpy; xU tz;zj;ij kw;w 
tz;zq;fNshL xg;gpl;L vj;jid tpfpjq;fs; fhzyhk;?  
a. 16 tpfpjq;fs;  b. 20 tpfpjq;fs;  c. 12 tpfpjq;fs; d. 8 tpfpjq;fs; 

 
52. Find the missing term in the following proportion 2 : 3 : : 22 : __ 

a.23  b. 22   c. 32   d. 2   3 
gpd;tUk; tpfpj rkj;jpy; tpLgl;l vz;iz fhz;f 2 : 3 : : 22 : __ 
a.23  b. 22   c. 32   d. 2   3 
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53. If Rs. 510 be divided among A, B, C in such a way that A gets 
2

3
 of what B 

gets and B gets 
1

4
 of what C gets, then their shares are respectively  

a. 40 : 110 : 360   b. 60 : 90 : 360 c. 90 : 360 : 90    d. 50: 120:360 
& 510 MdJ A, B kw;Wk; C f;F gfph;e;J mspf;fg;gLfpwJ. A vd;gth; ,jpy; 

B ngWk; njhifapy; 
2

3
 ngWfpwhh;. B vd;gth; ,jpy; C ngWk; njhifapy; 

1

4
 

ngWfpwhh; vdpy; mth;fspd; gq;fPl;Lj; njhiffs;  
a. 40 : 110 : 360   b. 60 : 90 : 360 c. 90 : 360 : 90    d. 50: 120:360  

 
54. If x : y = 1 : 3, then (7x + 3y) : (2x + y) = ? 

a. 4 : 5  b. 5 : 16  c. 5 : 4  d. 16 : 5   
x : y = 1 : 3, vdpy; (7x + 3y) : (2x + y) = ? 
a. 4 : 5  b. 5 : 16  c. 5 : 4  d. 16 : 5  

    
55. The fourth proportional to 5, 8, 20 is  

a. 18   b. 24  c. 32   d. 40  
5, 8, 20 - vz;fspd; ehd;fhtJ tpfpjhr;rhuk; fhz;f 
a. 18   b. 24  c. 32   d. 40  

 
 

56. If 
1 1 1 1

: :: :
5 1.25x x

, then the value of x is 

a. 
2

5
    b. 

5

2
    c. 

1

5
   d. 

3

5
 

1 1 1 1
: :: :

5 1.25x x
vdpy;> x - d; kjpg;G fhz; 

a. 
2

5
    b. 

5

2
    c. 

1

5
   d. 

3

5
 

 

57. If 
4 5 6

A B C
= =   then A : B : C  

a. 4 : 5 : 6  b. 6 : 5 : 4  c. 3 : 2 : 1   d. 1 : 2 : 3  

4 5 6

A B C
= =  vdpy; A : B : C I fz;lwpf.  

a. 4 : 5 : 6  b. 6 : 5 : 4  c. 3 : 2 : 1   d. 1 : 2 : 3  
 

58. Two numbers are respectively 20% and 30% more than the third number. 
The ratio of the two numbers.  
a. 2 : 3  b. 3 : 4  c. 12 : 13   d. 4 : 5   
,uz;L vz;fs; KiwNa 20% kw;Wk; 30% %d;whk; vz;iz tpl mjpfk; 
vdpy; mt;tpU vz;fspd; tpfpjk; fhz;f.  
a. 2 : 3  b. 3 : 4  c. 12 : 13   d. 4 : 5   
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59. The third Proportional to (a2 – b2) and (a – b) is  

a. (a+b)  b. (a-b)   c. 
a b

a b

+

−
  d. ( )

( )

a b

a b

−

+  
(a2 – b2)  kw;Wk; (a – b)  f;F %d;whk; tpfpjhr;rhuk; fhz;f.  

a. (a+b)  b. (a-b)   c. 
a b

a b

+

−
  d. ( )

( )

a b

a b

−

+  
 
60. 20% of (A+B) = 30% (A-B) find the ratio of A & B.  

a. 5 : 1  b. 1 : 5  c. 2 : 5  d. 5 : 2  
20% (A+B) = 30% (A-B)  vdpy; A kw;Wk; B apd; tpfpjk; fhz;f.  
a. 5 : 1  b. 1 : 5  c. 2 : 5  d. 5 : 2  
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TEST II 
UNIT VI INDIAN ECONOMY & UNIT X 

APTITUDE AND MENTAL ABILITY 
 

1 2 3 4 5 6 7 8 9 10 
C D A A B B C A D C 

11 12 13 14 15 16 17 18 19 20 
B C D A D B C C A C 

21 22 23 24 25 26 27 28 29 30 
D C B D B D C D D C 

31 32 33 34 35 36 37 38 39 40 
C C A A A A A B B B 

41 42 43 44 45 46 47 48 49 50 
C C D C B A D D C A 

51 52 53 54 55 56 57 58 59 60 
C D B D C B A C D A 
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41. If A : B = 2 : 5, B : C = 15 : 7, find the ratio of A : B : C. 
a. 2 : 5 : 7  b. 3 : 15 : 7  c. 6 : 15 : 7   d. 6 : 15 : 14 
A : B = 2 : 5, B : C = 15 : 7 vdpy;> A : B : C apd; tpfpjj;ijf; fhz;f. 
a. 2 : 5 : 7  b. 3 : 15 : 7  c. 6 : 15 : 7  d. 6 : 15 : 14 

 
Explanation: 

A  :  B : C 
2   :  5  :  5 
15 : 15 : 7 
30 : 75 : 35 
i.e., 6 : 15 : 7 

 

42. In a Village of 10,000 people, 4,000 are Government Employees and the 
remaining are self-employed. Find the ratio of Self-employed to people of 
the village 
a. 2 : 5   b. 2 : 3  c. 3 : 5  d. 6 : 5 
xU fpuhkj;jpy; cs;s 10>000 Ngupy; 4>000 Ngu; muRg;gzpapy; cs;sdu;; kPjp 
cs;stu;fs; Ranjhopy; Gupfpd;wdu; vdpy;> Ra njhopy; Gupgtu;fs; kw;Wk; 
fpuhkj;jpy; cs;stu;fs; MfpNahUf;fpilNa  cs;s tpfpjq;fis fhz;f. 
a. 2 : 5   b. 2 : 3  c. 3 : 5  d. 6 : 5 

 
Explanation: 

 
Number of people in the village = 10,000 
Number of Government employees = 4,000 
Self-employed = 10,000 – 4,000 = 6,000 
Ratio of Self employed to people of the village = 6000 : 10000 
= 3 : 5 

 
43. If 3 and 12 are means of the proportion then the extremes will be _________ 

a. 3 and 9  b. 3 and 18   c. 4 and 12   d. 2 and 18 
3 kw;Wk; 12 Mfpait xU tpfpj rkj;jpd; ,il cWg;Gfs; vdpy;> mtw;wpd; 
,Wjp cWg;Gfs; _______ 
a. 3 kw;Wk; 9  b. 3 kw;Wk; 18  c. 4 kw;Wk; 12  d. 2 kw;Wk; 18   
 
Explanation: 

 
Given 3 and 12 are means 
So, __:3 = 12 : __ 
The product of the means 3   12 = 36 
The product of Extremes must be 36 

2 18 38  =  
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44. Zinc and Copper are in the ratio 5 : 3 in 200 gm of an alloy. How much 

grams of copper be added to make the ratio as 3 : 5?  

a. 
1

133
3

   b. 
1

200
  c. 72   d. 66 

200 fpuhk; fyitapy;>Jj;jehfk; kw;Wk; jhkpuk; Mfpait 5 : 3 vd;w 
tpfpjj;jpy; cs;sd. ,e;jtpfpjj;ij 3 : 5 vd;W khw;Wtjw;F> vj;jid 
fpuhk; jhkpuj;ij Nrh;f;f Ntz;Lk;? 

a. 
1

133
3

   b. 1

200
  c. 72   d. 66 

 
Explanation: 

 
Zinc : Copper 
5x : 3x 
8x = 200 

200
25

8
x = =  

Zinc:  5x = 5×25 = 125gm  
Copper: 3x = 3 × 25 = 75gm 

125 3

75 5

225 3 625

400 1
133

3 3

x

x

x

=
+

+ =

= =

 

 
45. The ratio of the income of A and B is 5 : 4 and the ratio of their 

expenditure is  
3 : 2. At the end of the year each saves Rs. 1,000. Find the income of A  
a.  Rs. 2,000   b.Rs. 2,500   c. Rs. 1,000  d. Rs. 1,500  
A kw;Wk; B vd;gtu;fspd;; Cjpa tpfpjk; 5:4 mth;fs; nrytpd; tpfpjk; 3 
: 2 Mz;bd; ,Wjpapy; xt;nthUtUk; &. 1>000 Nrkpf;fpwhh;fs;. vdpy;, 
Aapd; Cjpak; fhz;f.  
a.  Rs. 2,000   b.Rs. 2,500   c. Rs. 1,000  d. Rs. 1,500  

 
Explanation: 

 
Income - expenditure = saves 
⇒ 5x−3y=1000    ----- (1) 
⇒ 4x−2y=1000    ----- (2) 
By solving the equation (1) and (2) 
x = 500 
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5x = 2500 
 

46. The mean Proportional between 19 and 171 is:  
a. 57   b. 53  c. 61    d. 65  
19 kw;Wk; 171 – w;F ,ilepiy tpfpjk; fhz;f.  
a. 57   b. 53  c. 61    d. 65  

 
Explanation: 

 
Mean proportional = 19 171 3249 =  

    = 57 

 
47. A bag contains one rupee, 50 paise and 25 paise coins in the ratio 5 : 6 : 7. 

If the total amount is Rs. 780. Find the number of coin of each kind.  
a. 400, 560, 680 b. 230, 400, 600 c. 400, 280, 400 d. 400, 480, 560  
xU igapy;> xU &gha;> 50 igrh> 25 igrh ehzaq;fs; KiwNa 5 : 6 : 
7 vd;w tpfpjj;jpy; cs;sJ. mjd; nkhj;j kjpg;G & 780 vdpy; xt;nthU 
ehzaq;fspd; vz;zpf;if vd;d?  
a. 400, 560, 680 b. 230, 400, 600 c. 400, 280, 400 d. 400, 480, 560  

 
Explanation: 

 

Number of wins be 5x, 6x and 7x respectively.  

Then 5x(1) + (0.50) 6x + (0.25) 7x = 780 

    9.75x = 780 

     x = 80 

 Number of coins are 5(80), 6(80), and 7(80)  

    i.e., 400, 480, 560  

 

48. Find the ratio of 1.5 km to 500 m 
a. 2 : 1  b. 5 : 15   c. 5 : 1  d. 3 : 1 
1.5 fp.kP f;Fk; 500 kP f;Fk; cs;s tpfpjj;ij fhz;f. 
a. 2 : 1  b. 5 : 15   c. 5 : 1  d. 3 : 1 

 
Explanation: 
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Since 1km=1000m 
1.5km = 1.5 × 1000 = 1500m 
1500 3

3:1
500 1

= =  

 
49. find x and y   

5 :  x     : : 10 : 14 : : 15 : y 
x kw;Wk; y ia fz;lwpf.  
5 : x      : : 10 : 14 : : 15 : y 
a. 6, 21   b. 21, 6  c. 7, 21  d. 8, 20  

 
Explanation: 
 

 

5 10 15

14x y
 = =  

 

5 10 10 15

14 14
and

x y
 = =  

 

5 14 15 14

10 10
x and y

 
 = =  

 7 21x and y= =  

50. Using the numbers 14, 7, 8, 4 write two ratios that are in proportion.  
a. 14 : 8 :  : 7 : 4 b. 14 : 4 : : 8 : 7  c. 14 : 8 : : 4 : 7 d. 8 : 14 : : 7 : 4 
14, 7, 8, 4 Mfpa vz;fisg; gad;gLj;jp tpfpj rkkhf cs;s ,U 
tpfpjq;fis vOJf.  
a. 14 : 8 :  : 7 : 4 b. 14 : 4 : : 8 : 7  c. 14 : 8 : : 4 : 7 d. 8 : 14 : : 7 : 4 

 
Explanation: 

 7 : 4 = 14 : 8  

  14 : 8 :  : 7 : 4  

  
51. I have a box which has 3 green, 9 blue, 4 yellow, 8 orange coloured 

24cubes in it. How many different ratios can be formed, when you 
compare each colour to any one of the other colours?  
a. 16 ratios   b. 20 ratios   c. 12 ratios   d. 8 ratios  
vd;dplKs;s xU ngl;bapy; 3 gr;ir> 9 ePyk;> 4 kQ;rs;> 8 MuQ;R vd 24 
tz;zf; fdr; rJuq;fs; cs;sd. vdpy; xU tz;zj;ij kw;w 
tz;zq;fNshL xg;gpl;L vj;jid tpfpjq;fs; fhzyhk;?  
a. 16 tpfpjq;fs;  b. 20 tpfpjq;fs;  c. 12 tpfpjq;fs; d. 8 tpfpjq;fs; 
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Explanation: 
 

The ratios can be  

green : blue, green : yellow, green : orange  

blue : green, blue : yellow, blue : orange  

yellow : green, yellow : blue, yellow : orange  

orange : green, orange : blue, orange : yellow  

Thus 12 ratios can be formed  

 
52. Find the missing term in the following proportion 2 : 3 : : 22 : __ 

a.23  b. 22   c. 32   d. 2   3 
gpd;tUk; tpfpj rkj;jpy; tpLgl;l vz;iz fhz;f 2 : 3 : : 22 : __ 
a.23  b. 22   c. 32   d. 2   3 

 
Explanation: 

 
Product of Means: 3 22 = 3   2 2 = 12 
Products of extremes: 2    x = 12 

 12
x = 6

2
=  = 2   3 

 

53. If Rs. 510 be divided among A, B, C in such a way that A gets 
2

3
 of what 

B gets and B gets 
1

4
 of what C gets, then their shares are respectively  

a. 40 : 110 : 360  b. 60 : 90 : 360 c. 90 : 360 : 90    d. 50: 120:360 
& 510 MdJ A, B kw;Wk; C f;F gfph;e;J mspf;fg;gLfpwJ. A vd;gth; 

,jpy; B ngWk; njhifapy; 
2

3
 ngWfpwhh;. B vd;gth; ,jpy; C ngWk; 

njhifapy; 
1

4
 ngWfpwhh; vdpy; mth;fspd; gq;fPl;Lj; njhiffs;  

a. 40 : 110 : 360  b. 60 : 90 : 360 c. 90 : 360 : 90    d. 50: 120:360 
    
Explanation: 

 

A : B :  C 
 2 :  3 : 3  
 1 :  1 : 4 
 2 :  3 : 12 
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Total ratio  17x = 510 
x = 30 
 230 : 330 : 1230 
     60 : 90 : 360 

 
54. If x : y = 1 : 3, then (7x + 3y) : (2x + y) = ? 

a. 4 : 5  b. 5 : 16 c. 5 : 4  d. 16 : 5   

x : y = 1 : 3, vdpy; (7x + 3y) : (2x + y) = ? 
a. 4 : 5  b. 5 : 16 c. 5 : 4  d. 16 : 5   
 
Explanation: 

       x : y = 1 : 3 
(7x + 3y) : (2x + y) 

(7(1) + 3(3)) : (2(1) + 3) 
    (7 + 9) : (2 + 3) 
    i.e., 16 : 5 

 
55. The fourth proportional to 5, 8, 20 is  

a. 18   b. 24  c. 32   d. 40  
5, 8, 20 - vz;fspd; ehd;fhtJ tpfpjhr;rhuk; fhz;f. 
a. 18   b. 24  c. 32   d. 40  

 
Explanation: 

 

 5 : 8 : : 20 : x  

 
20 8

32
5

x


 = =  

56. If 
1 1 1 1

: :: :
5 1.25x x

, then the value of x is 

a. 
2

5
    b. 

5

2
    c. 

1

5
   d. 

3

5
 

1 1 1 1
: :: :

5 1.25x x
vdpy;> x - d; kjpg;G fhz; 

a. 
2

5
    b. 

5

2
    c. 

1

5
   d. 

3

5
 

 
Explanation: 
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2

2

1 1 1 100
: :

5 125

1 1 1 100

5 125

1 4

25

25

4

5

2

x x

x x

x

x

x

=

   
  =    

   

 =

 =

 =

 

 

57. If 
4 5 6

A B C
= =   then A : B : C  

a. 4 : 5 : 6  b. 6 : 5 : 4  c. 3 : 2 : 1   d. 1 : 2 : 3  

4 5 6

A B C
= =  vdpy; A : B : C I fz;wpf.  

a. 4 : 5 : 6  b. 6 : 5 : 4  c. 3 : 2 : 1   d. 1 : 2 : 3  
 

Explanation: 
 

4 5 6

A B C
k= = =  

A = 4k, B = 5k, C = 6k  

Hence A : B : C = 4k : 5k : 6 k  

   = 4 : 5 : 6  

58. Two numbers are respectively 20% and 30% more than the third number. 
The ratio of the two numbers.  
a. 2 : 3  b. 3 : 4  c. 12 : 13   d. 4 : 5   
,uz;L vz;fs; KiwNa 20% kw;Wk; 30% %d;whk; vz;iz tpl mjpfk; 
vdpy; mt;tpU vz;fspd; tpfpjk; fhz;f.  
a. 2 : 3  b. 3 : 4  c. 12 : 13   d. 4 : 5   

 
Explanation: 

 

Let the third number = x 

First number = 
120

100
x  

Second number = 
130

100
x  
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Ratio of two numbers = 120 130
:

100 100
x x  

   = 12 : 13  

 
59. The third Proportional to (a2 – b2) and (a – b) is  

a. (a+b)  b. (a-b)   c. a b

a b

+

−
  d. 

( )

( )

a b

a b

−

+  
(a2 – b2)  kw;Wk; (a – b)  f;F %d;whk; tpfpjhr;rhuk; fhz;f.  

a. (a+b)  b. (a-b)   c. 
a b

a b

+

−
  d. 

( )

( )

a b

a b

−

+  
Explanation: 

 
Let x be the third proportional  

2 2 ( )

( )

a b a b

a b x

− −
=

−  
2( )

( )( )

a b
x

a b a b

−
 =

+ −  

a b

a b

−
=

+
 

 
 
60. 20% of (A+B) = 30% (A-B) find the ratio of A & B.  

a. 5 : 1  b. 1 : 5  c. 2 : 5  d. 5 : 2  
20% (A+B) = 30% (A-B)  vdpy; A kw;Wk; B apd; tpfpjk; fhz;f.  
a. 5 : 1  b. 1 : 5  c. 2 : 5  d. 5 : 2  

 
Explanation: 

 

Given : 
20

100
 (A+ B) = 

30

100
 (A – B)  

20 20 30 30A B A B + = −  

5 0 10B= A  

5

1

A

B
 =   i.e. 5 : 1  

 


